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31. Thevalue ofjex %dx is equal to
+x
xe* x%e*
(A) —+C (B) ————+C
X
(Q) UEWHT (D) None of these
+ X
cos2x

32. I dx is equal to

cos x

(A) 2sinx+log |(sec x—tanx)|+c
(B) 2sinx—log |(secx—tanx)|+c
(C) 2sinx+log |(secx +tan x)|+c
(D) 2sin x —log |(sec x +tan x)| + ¢

33. The value of j%dx is equal to
cos™“ x
(A) 2+/sinx+c (B) 2+cosx+c
(C) 2+secx+c (D) 2,/cosecx+c
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34. The value of J-ex [X—Jrz] dx is equal to
X+4

e e”

1 (B) +c
x+4 x+4
X x 2

© ——+c D) £ 4c
(x+4) x+4



log(x/e)

q dxis equal to 43. The value of I dx is equal to

35. Thevalue ofj Z_

ogx)*
[ b X+1 x=1
(A) (a+b) M+9 +¢, where asin? @ +bcos? 6 = x (A) 7t ¢ (B) 7T ¢
| 2 ] (log x) (logx)
(B) (a—b) Sm26+¢9 +¢, where asin® @ +bcos® 6 = x (o) +c (D) IoﬂJrC
L 2 i log x x
[sin20 ] .2 2
(C) (a—0b) 5 +6 |+c, where asin“@—bcos” 6 =x dx
44, =
- Z -[cos(x—a)cos(x—b)
sin26 .2 2
(D) (a+b) +8 |+c, where asin®@—bcos” 8 = x sin(x —a)
L 2 i (A) cosec(a—b)log———
sin(x —b)
bxcos4x —asindx asindx cos(x—a
36. If'[ 2z dx = . + ¢, then a and b may be (B) cosec(a—b)logﬁ
(A) a=2,b=2 (B) a=1,b=4 o
1 (C) cosec(a—b)logM
(C) a=-1,b=4 (D) G=Z, b=2 sin(x —a)
cos(x —b)
/ (D) cosec(a—b)log—————+c¢
37. IfJ i ‘ 1‘+c, then cos(x —a)
1= ‘\/1 X +1\
1 2 [N
(A) a=— (B) a=— 45 X+a+~x+b
2 3
© a=% (D) a= (A) 3(b_a)[(x+a)3/2—<x+b)3/2]+c
3/2 3/2
38. If Jxloge(1+1/x)dx=P(x)In(1+l)+%x—%ln(1+x)+c, ® a(a_b)[(x+a) —(x+b) ]+c
X
then © S roerbP? Jc
(R) plx)=—- (B) p(x)=- (D) None of these
(C) px)= (D) None of these
3cosx+3sinx
46. | ———dx=
39. J.COS\/— dx is equal to J45'"X+5C°5X

27 3 .
(A) 2cosx +¢ B) /cosx+c (A) Ex—ﬂlog(45|nx+5cosx)+c
) (B) £x+ilo (4sinx+5cosx)+c
(C) sinvx +c (D) 2sinv/x +¢ FTRATe
27 3
4°'J. 1+tanx dy= (€) —x——log(4sinx—5cosx)+c
x +logsec x 41 1

(A) log (x+log secx)+c (B) —log (x+log secx) + ¢

(C) log (x—logsecx)+c (D) None of these
2 2
41. If'[ ) > dx =klog tan’1—+1 +c,
(x4+3x2+1)tan_1[x +1J
X
then kis equal to
(A) 1 (B) 2
@ 3 (D) 5
42, The value ofjlizdx is equal to
(1+In x)
A) — +¢ S PLAL I
1-In x 1+In x
€ X Inx e
1+In x X+ xIn x

47.

48.

(D) None of these

1
If |(sin2x +cos2x)dx = —=sin
J N

and cis

(2x—c¢)+a, then the value of a

(A) c¢=7x/4 and a=k (an arbitrary constant)
(B) c=-x/4and c=x/2 a=7/2
(C) c=n/2andais an arbitrary constant

(D) None of these

J-xs—x—Z

(1-x?)
X+1 x2
-1

dx =
(A) Iog(

x+1) x?
C) log| 2 |+Z—+
© g(x 1) 2 ¢

x—1 x2
B) log| — [+—+¢
() g(x+1) 2



Somiteons

eX| x(x% +1)+1
31'.[ [(x2+1]3"2 ]

X 1
=je"|:{x2+1)”2 + [X2+1)3;2]dx

(Since, e*[f'(x)+f(x)]=e*f(x)+c)

dx

xe”

=———cC
(X?__I_-I)h'?_

2

32. j2cos x—Idx
COS X
=2Jcosx—]5ecx dx
=2sinx —log|(secx +tanx)|+c
33. cosx=t=—sinxdx=dt
$73/2+1 2
/= Jt‘yzdt— +C=—+Cc=2+secx +c

—§+1 Jt
2



=Jex[1— 4 + 4 2]dx
X+4 (x+4)

:eX+JeX[—4+“2]dx
X+4 (x+4)

- = +c
x+4 x+4
x—a
35. I ,b—xdx

Let x =asin’ @ +bcos® 8. Then
dx =(2asin@cos@ —2bcosfsinf)do

=(a—"b)sin26-d@

J- cos?6(b—a)

(a—b)sinzedez2j(a—b)(cos2 0)do
(b—a) sin@

= (a—b)(6+%sin26)+c

36. SIn4X—J’_sm4xdx —jisin4xdx
4x ax? x2

dx

b sindx (b—a sindx

=— +

4 x 4 X2
Hence,a=1,b=4.
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37'J dx :J x“dx
xx/1—x3 x3\/1—x3
Let 1- x> =t%. Then — 3x2dx = 2tdt.
2 tdt dt 2 dt
|=—= =_= =

V1-x3 -1
og|-——
Vi+x3 +1

-1

38. J.xlog(Hl)dx = P(x)ln(1+l)+§—%ln(1+x)+c

2
LHS = Iog(1+ )-——j X1 L
()"
X
2 2
=log 1+l)AX—+lJLdX=X—In 1+l +£—lln(1+x)+c
x) 2 27 x+1 2 x) 2 2

2
Hence, p(x)= X—.

2
1
39. Let +/x =t. Then ——dx =dt.
2Jx
I= 2Jcosdt =2sint+c
:Zsinx/;+c

secxtanx
40. x +logsecx=t :>(1+7)dx=dt
secx

Hence, I =log(x +logsecx)+c.

2
41. Let tan™' (X'H] =6.Then

X
(2
1 2><x(2x) 2(x +1)dx=d9
2 X
(x +1)
1+ ——
X
2_
=D e —ae

(x4 +3x%+ 1)

anl| X
X

Hence, the correct answer is (1).
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42, J :J.1+|nde_J-( de

= I=log +c

(1+Inx)? 1+Inx)
1
X-—dx
=X +J X 2—I ! > dx
1+Inx Y (1+Inx) (1+Inx)
X
" 1+Inx
Iog(x/e 1
43. I —I I dx
(Iogx) ogx (Iogx)
X X 1
= + dx — dx
logx Jx(logx)z J(Iogx)2
log x
d
aa. | X

cos(x —a)cos(x —b)
1 Jsin((x—b)—(x—a)) dx
)

- sin(a—b)? cos(x —a)cos(x —b)

- sin(a—b)

1 J-( sin(x —b) a sin(x—a))dx

cos(x—b) cos(x—a)
1 cos ‘
= +c
sin(a— b cos ‘
45 ,[ dx :J-(\/x+a—\/x+b)dx
I x+a+Ix+b (x+a-x-b)

J (x+a—x+b)dx =

o _b)((x+a)32—(x+b)3/2)+c

46. 3cosx+3sinx :a(4sinx+5cosx)+bdi(4sinx+5cosx)

X
3cosx+3sinx =cosx(5a+4b)+sinx(4a—5b)

Compare the coefficients of sin x and cos x on the both sides

(5a+4b)=3, (4a—5b)=
27 3

l

s M



4cosx—5sinx
—I—dx—— . dx
4sinx+5cosx

j- 3c05x+35inx
4sinx+5cosx

3cosx +3sinx 27 3
I : dx=—x——In|4sinx +5cos x|+ ¢
4sinx+5cosx 41 41
Cos2x sin2x
a7. j(sin2x+coszxjdx=— 5 +k

S )

So, c= % and a =k, an arbitrary constant.
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